

A prime congruence system

Autor(en): **Morley, Larry J. / Bishop, Alan**

Objektyp: **Article**

Zeitschrift: **Elemente der Mathematik**

Band (Jahr): **32 (1977)**

Heft 4

PDF erstellt am: **25.09.2024**

Persistenter Link: <https://doi.org/10.5169/seals-32158>

Nutzungsbedingungen

Die ETH-Bibliothek ist Anbieterin der digitalisierten Zeitschriften. Sie besitzt keine Urheberrechte an den Inhalten der Zeitschriften. Die Rechte liegen in der Regel bei den Herausgebern. Die auf der Plattform e-periodica veröffentlichten Dokumente stehen für nicht-kommerzielle Zwecke in Lehre und Forschung sowie für die private Nutzung frei zur Verfügung. Einzelne Dateien oder Ausdrucke aus diesem Angebot können zusammen mit diesen Nutzungsbedingungen und den korrekten Herkunftsbezeichnungen weitergegeben werden. Das Veröffentlichen von Bildern in Print- und Online-Publikationen ist nur mit vorheriger Genehmigung der Rechteinhaber erlaubt. Die systematische Speicherung von Teilen des elektronischen Angebots auf anderen Servern bedarf ebenfalls des schriftlichen Einverständnisses der Rechteinhaber.

Haftungsausschluss

Alle Angaben erfolgen ohne Gewähr für Vollständigkeit oder Richtigkeit. Es wird keine Haftung übernommen für Schäden durch die Verwendung von Informationen aus diesem Online-Angebot oder durch das Fehlen von Informationen. Dies gilt auch für Inhalte Dritter, die über dieses Angebot zugänglich sind.

A Prime Congruence Theorem

1. Introduction

The congruence theorem which we prove in this paper was discovered in attempting to establish a relationship between certain commutator elements of different weights in a standard wreath product of p -groups. The idea of forming matrix entries in the way described below was motivated as a method of collecting exponents of like commutator elements after each step in a rearrangement factorization process. While the matrix notation helps to motivate the proof, matrix operations are not utilized in the proof. It is still an open question as to whether a proof could be accomplished via matrix operations. The authors have not been successful in this regard.

Definition 1.1. Let p denote any prime number and $A = (a_{i,j})$ be the $(p-1)$ by $(p-1)$ matrix with the column entries defined recursively as follows:

$$a_{i,1} = i, \quad i = 1, 2, \dots, p-1,$$

$$a_{i,k} = i \sum_{j=1}^i a_{j,k-1}, \quad k > 1 \text{ and } i = 1, 2, \dots, p-1.$$

The entry $a_{i,k}$ is i times the sum of the first i entries of column $k-1$. Let $\bar{A} = (\bar{a}_{i,j})$ denote the matrix formed from A by reducing all entries modulo p .

Theorem 1.2. All entries below the minor diagonal in \bar{A} are 0. As an example, in the case $p=5$, the matrix \bar{A} is

$$\begin{pmatrix} 1 & 1 & 1 & 1 \\ 2 & 1 & 4 & 0 \\ 3 & 3 & 0 & 0 \\ 4 & 0 & 0 & 0 \end{pmatrix}$$

It is interesting to note that the entry $\bar{a}_{p-1,2} = 0$ because of the formula for the sum of the first k positive integers. Also, the entry $\bar{a}_{2,p-1} = 0$ since, prior to being reduced modulo p , this entry is $2 + 2^2 + \dots + 2^{p-1} = 2(1 + 2 + \dots + 2^{p-2}) = -2(1 - 2^{p-1})$ which is congruent to 0 modulo p by Fermat's Little Theorem. Perhaps other elementary and well known theorems can be cited to give partial results to this problem.

2. The Proof

The proof is by a double induction argument and is presented via a series of three Lemmas. The authors acknowledge and thank Professor J.M. Gandhi for suggesting the well know differentiation technique utilized in the proof of Lemma 2.2. In all statements of the sequel, $a_{i,j}$ and $\bar{a}_{i,j}$ denote matrix entries in A and \bar{A} respectively, according to Definition 1.1 with $1 \leq i, j \leq p-1$.

Lemma 2.1 $a_{k+1,n+1} = (k+1) \left((1/k) a_{k,n+1} + a_{k+1,n} \right)$

Proof.
$$\begin{aligned} a_{k+1,n+1} &= (k+1) \left(\sum_{j=1}^k a_{j,n} + a_{k+1,n} \right) \\ &= (k+1) \left((1/k) k \sum_{j=1}^k a_{j,n} + a_{k+1,n} \right) \\ &= (k+1) \left((1/k) a_{k,n+1} + a_{k+1,n} \right) \end{aligned}$$

Lemma 2.2 $a_{k,n} = k \sum_{j=0}^{k-1} (-1)^j (k-j)^{n+k-2} / j! (k-1-j)! .$

Proof. Proceeding with a double induction argument on n and k , we first verify the formula

$$k = a_{k,1} = k \sum_{j=0}^{k-1} (-1)^j (k-j)^{k-1} / j! (k-1-j)! .$$

Beginning with the binomial identity

$$(1-x)^{k-1} = \sum_{i=0}^{k-1} (-1)^i (k-1)! x^i / i! (k-1-i)!$$

we multiply by x and then differentiate with respect to x to get

$$(1-x)^{k-1} - (k-1)x(1-x)^{k-2} = \sum_{i=0}^{k-1} (-1)^i (k-1)! (i+1)x^i / i! (k-1-i)! .$$

Repeating this process of multiplication and differentiation we have

$$\begin{aligned} (1-x)^{k-2} g(x) + (k-1)(k-2)x^2(1-x)^{k-3} \\ = \sum_{i=0}^{k-1} (-1)^i (k-1)! (i+1)^2 x^i / i! (k-1-i)! . \end{aligned}$$

After $k-1$ repetitions and replacement of 1 for x ,

$$(-1)^{k-1} (k-1)! = \sum_{i=0}^{k-1} (-1)^i (k-1)! (i+1)^{k-1} / i! (k-1-i)!$$

which implies

$$1 = \sum_{i=0}^{k-1} (-1)^{i-k+1} (i+1)^{k-1} / i! (k-1-i)! .$$

Setting $j = k - i - 1$ this identity becomes

$$1 = \sum_{j=0}^{k-1} (-1)^j (k-j)^{k-1} / (k-1-j)! j!$$

which establishes the formula for $n = 1$ and all k .

The identity

$$a_{1,n} = 1 = \sum_{j=0}^0 (-1)^j (1-j)^{n-1} / j! (-j)!$$

is clear and the proof is completed by verifying the formula for $a_{k+1,n+1}$ utilizing the formulas for $a_{k,n+1}$ and $a_{k+1,n}$ and Lemma 2.1. Before using Lemma 2.1, rewrite the expression for $(1/k) a_{k,n+1}$ as follows:

$$\begin{aligned} (1/k) a_{k,n+1} &= \sum_{j=0}^{k-1} (-1)^j (k-j)^{n+k-1} / j! (k-1-j)! \\ &= \sum_{j=1}^k (-1)^{j-1} (k-j+1)^{n+k-1} / (j-1)! (k-j)! \\ &= \sum_{j=0}^k -(-1)^j j (k-j+1)^{n+k-1} / j! (k-j)! . \end{aligned}$$

Now substituting into Lemma 2.1 we have

$$\begin{aligned} a_{k+1,n+1} &= (k+1) \left[\sum_{j=0}^k -(-1)^j j (k-j+1)^{n+k-1} / j! (k-j)! \right. \\ &\quad \left. + (k+1) \sum_{j=0}^k (-1)^j (k-j+1)^{n+k-1} / j! (k-j)! \right] \\ &= (k+1) \left[\sum_{j=0}^k (-1)^j (k-j+1)^{n+k-1} / j! (k-j)! \right] (k+1-j) \\ &= (k+1) \sum_{j=0}^k (-1)^j (k-j+1)^{n+k} / j! (k-j)! . \end{aligned}$$

The proof of Theorem 1.2 follows directly from Lemma 2.2 and the next Lemma which verifies that the entries immediately below the minor diagonal in \bar{A} are all zero.

Lemma 2.3 $\bar{a}_{k,p-k+1} = 0$ for $k = 2, \dots, p-1$.

Proof.
$$\begin{aligned} a_{k,p-k+1} &= k \sum_{j=0}^{k-1} (-1)^j (k-j)^{p-k+1+k-2} / j! (k-j-1)! \\ &= k \sum_{j=0}^{k-1} (-1)^j (k-j)^{p-1} / j! (k-1-j)! \\ &\equiv k \sum_{j=0}^{k-1} (-1)^j / j! (k-1-j)! \pmod{p} \\ &= (k/(k-1)!) \sum_{j=0}^{k-1} (-1)^j (k-1)! / j! (k-1-j)! \\ &= (k/(k-1)!) (1-1)^{k-1} \\ &= 0 \end{aligned}$$